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elem
¸¹���*��p�t>tY��tYs3tY�_��~YÀ��S~������

set
¸¹���!~�t	�?~���¸

tY��tYs*t��_��~YÀe�!~�|}s&�G�N�
=
¸¹�N��tO�N�G���³�¿��|NÀW���r�<��prt3~�t	��µb��p�t��N��t��������	�N�r~������G�5��~�s3tYs$�Wt��?~�pr���ºÀK�³�r�	�³�r~����N�ºÀ

~��³��§��³t	�����ºÀº�r�����N�ºÀº�³�_��t��?~�tY�5�����N�ºÀ
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5
inc(f)

Àr½�p��³�?p<p��N�³�r~V�CB
f
�³~ �7
.��������	1�7
8! À���pr�����³~YÀ

a ⊆ b→ f(a) ⊆ f(b)
À}¸¹���������º~�t	�?~

a, b
6

5
dec(f)

À�½�p����?p<p�������~V�HB
f
�³~ � ���������X	1�7
[! Àr��pr���V��~YÀ

a ⊆ b→ f(b) ⊆ f(a)
À�¸¹�������³�º~�t	��~

a, b
6

5
add (f)

Àr½�p��³�?p<p��N�³�r~V�CB
f
�³~ � �#���7%?�73�� Àr��pr�����³~YÀ

f(a ∪ b) = f(a) ∪ f(b)
À}¸¹�������³�
~�t	�?~

a, b
6

5
mul(f)

ÀW½�p��³�?pjpr������~��HB
f
��~ "���45%?� -.45������% �73X� ÀK��pG������~YÀ

f(a ∩ b) = f(a) ∩ f(b)
Àr¸¹�N�����³�:~�t	�?~

a, b
6

5 f � g
À�½�pr�³�?p/p�������~��HB

f(a) ⊆ g(a)
À�¸¹����t�·Nt���|B~�t	�

a
»

ÃÁt��r����·NtV��pr��� °r±�²
ÄÆÅ ��~���tY���³�������³t��}|*������·}�����³��§$����tY���r�5�����N�B���³§��N������p�s ½�p����?p!s����r~AtY�N�?p
~�t��_��t��r��t���¸ °�±V²ºÄQÅ ���_�������3tO�_���³~������³~�ÇG������t�~�t��_��tY�r�	t���¸ °�±V² »�oVprt��*��prt���tY���³�������³������|$��¸ °r±�²
ÄÆÅ
¸¹�N���³��½�~A¸¹���Ns'��p�t���tY���³�������³������|B��¸ °r±�² »
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 95»
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�

oVprtx�����r§��r��§�t °r±�² 7 %?� �A@<4P��3X��4*	10�474P��!��
	1% ��� 9V��~��*�_�r���_����ÇrtY��µI¸¹��tYt�s����}|_µ¼~��N����tY��������§N�r��§Nt�½�����p/��½��
~�������~YÀ

elem
���G�

set
À����³�r~V��p�t9¸¹���³����½��³��§*~�|}s&�G�N�³~ 4

5 �����������?�������³|�s����}|!·������³�����³tY~���¸Z~��N��� τ À�¸¹�N��tY�N�?p τ ∈ {elem, set}
6

5 ��p�t������r~������_� ∅ À���¸Z~��N��� set 7 ��".->% 0$	���% 9,6

5 ��p�t��N�GtY�������N��~
� {·}
À���¸�~������

elem → set
7 	��7
[!�4K��%<��
;	���% 9,6

� ∪,∩, \
Àr��¸�~������

set × set → set
7 ��
 ����
 À �7
&%<����	�����%?����
 Àr���r� 	���%���� 
 ������
.��� 9,6

5 ��p�t��r��tO���³�Y����tY~
� ∈
Àr��¸Z~��N���

elem × set
7 " ��" ������	�-�� - 9 6

� ⊆
À���¸�~������

set × set
7 	���% �7
>��45�[	1����
 9 6

5 ���<tY�_�r��������|!~�|_s&�G�N� =τ
À}¸¹�N��tY���?p

τ ∈ {elem, set}
6��

5 ��p�t��r���N�G�_~������³���r���e�	���r��tY�	���³·�tY~ ¬ À ∧ À ∨ À → ÀG���r� ↔ »
°r±�² @<% ���1"�	 7¹��tY~��GtO�5���³·�tY��|NÀ °r±�² @5�����1"���4P� � 9&����t!½�t��³�¿µ¼~�������tY�´��tY��s�~87¹��tY~��GtO�5���³·�tY��|NÀ�¸¹����s$������t$9

�����r~������r�	��tY���r~����r§&��p�t�~�|_s&�G�N�³~V��¸
��p�t��³����§��G��§�t °r±�² »
��� ­�Ä�� " Ì B���� t	�

u
�Wt����

elem
µ¶·������³������tNÀ����r���³t	�

x, y
�Wt

set
µ¶·������³������tO~�»�oVp�tY����p�t�t	¾�����tY~�~����N�

¬ [(x \ y = ∅ ∧ u ∈ x) → y 6= ∅]
7 H 9

��~����<t�¾���s*����t9��¸�� °�±V² µI¸¹����s$�r�³�r»
�

��� �7
&%<���F-.����% ��%?����

A
��~��js������r����§´��¸���p�t/~��N���?~�À:·f���������r��tO~����r� ~�|}s$�W����~���¸���prtB������§N�r��§Nt

°r±�² ~�������~�¸¹|}�³��§$��p�t9¸¹���³�³��½�����§������r�������³���G~�4
5 tY�N�?p/~������ τ ∈ {elem, set}

��~Vs������WtY�����!�3~�t	�
Aτ
~��r�?p���pr��� 4

� Aelem 6= ∅
6

� Aset = P(Aelem)
6

��� ã=1
áâòâò'1
ßàá ëIã
=
áâÚ �fò Ù?õ�ãZÞ��

=τ
1 .fã�Ú

τ
áâóºõ�òâã�Ù?ß ��ßbÞ5ûÆë:.fãUõ�Þ5Ú	ëbã�ø�ë%�

Ö¹Ü�ÕºÖØ×



���������
	�����
���������������������������� ����!#"$��
&%��'�)(*��%,+.-/�����10�2�
&3���4536�7
8!:9;��
.��%<��
.�=� ��
>��%?����
/	 £

5 tY�N�?p�·������������³t x ��¸�~������ τ ��~�s����r�GtO�B�������/t��³t�s*t��_� xA ��� Aτ
6

5 ��p�t�~�|}s$�W����~ ∅ À {·} À ∩ À ∪ À \ À ∈ À ⊆ ����tx�³�N��t�������t	��tO���N�������?�����r§����&��prt��³��~��?���r�������B���_��t�������t�µ�������³��� 6
5 =τ
�³~��³�_��tY������t	��tY�/��~A��prt��³��tY�_������|B�³�

Aτ
»

������tO~�~Â����p�t���½���~�tQ~��WtY�	��ÇrtO�eÀ&½�tS¸¹�N���³��½���p�t �	�N�_·Nt��_���³��� ��pr��� �����³�³��§N������p���� ��t�����tY��~
A
À
B
À

»Y»�»���t�������t �³�N��t�������t	�������³���r~YÀ9���r�)��pG���j��prtÆ�	������tY~��G�N�r���³��§ ����s���� ��t�����t��?~�À9���r�G�N��������t��³|i~�����µ
~��	���³����tO�eÀ���t��r����t9��p�t�����s������r~V��¸:��p�t��³�N��t�������t	�������³���r~Y»
Èr���C�x��t���s

t
À�½�t���tY������t�½��¿��p

tA
��p�t�t�·����³�r�������N�&��¸

t
���G��t��Z��p�t��³�_��t�������t	�?�����³���

A
» � �KI�tY½��³~�t�À

¸¹�N���$¸¹����s$�r�³�
ϕ
À�½�t���t�������tx½��¿��p

ϕA
��p�tx��������p�µI·�������t���¸

ϕ
���r��tY�A��p�tx���_��tY���r��t����������N�

A
»Z�¶¸

T
��~

�*~�t	����¸
��tY��s�~����r�
A
��~����/�³�N��t�������t��������³���ºÀ�½�t���t�������t�½�����p

TA
��p�t�~�t��

{tA : t ∈ T}
»

� " �6�#��4 ��¸e� °�±V² µI¸¹����s$�r�³�
ϕ
�³~A���*���_��t�������t��������³���

A
~��r�?p3��pr���

ϕA
�³~U������t�»�� °r±�² µb¸¹�N��s&�����

��~ 	���% �
	�� ����4P� �¿¸�����pr��~��3s*����t��I»
oVp�t 	���%?�
	�� �����745�7%?0G->������4P��" ��¸ °�±V² ��~V��prt$���������³t�s,��¸U��t���t���s*���r����§B½�p�t	��p�t����N����������§��³·�tY�

°r±�² µI¸¹����s$�����$��~�~������³~�ÇG���r��tN»�oVpr�³~V�������r��tYs'�³~���tY���³�������³t � È�Ê�£�QE�I»
��� ­�Ä�� " Ì ° � oVprt °�±V² µI¸¹����s$����� 7 H 9V��� �Z¾���s3�r��t H ��~�������~�������~�ÇW�����³t�»A�¼��¸à�N�5�OÀ�¸¹����t�·�tY��|B���_��tY��µ
�r��t����������N�

A
Àº��¸

xA \ yA = ∅
���r�

uA ∈ xA
À
�¿��s$�G~��9�Gt3��p�t�����~�t���pr���

uA ∈ xA ∩ yA
Àe½�p����?p

�³s*���³��tO~V��pr���
yA 6= ∅

»
�
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 ��%
Γ
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U
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Γ
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Γ
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	1% ���D� �7%7-N" ��
>��% ��
>� ����
>��%?����
/	 9	À:½�pr�³�?p t	¾}��t��r��~ °�±V² ½�����pÆ�����������?�������³|>s����}|
¸¹��t�tx¸¹���G�5���³���j~�|}s$�W����~V��¸Z~��N���

set → set
À����r����p�t�~��WtY���³���º~�|}s&�G�N�³~

inc
À
dec
À
add
À
mul
ÀG���r�

�
»

oVp�t�~�t�s����_���³�Y~C��¸ °r±�²
ÄÆÅ �³~V��t�Çr��tY�B���B��������¸º��p�t�~�tYs����_������~A��¸ °�±V² À}�}|���tY�_���³���³��§���pr���V��¸
A
��~U���3�³�N��t�������t	�������³���*���r�

f
��~Z��¸¹��tYtV¸¹���r�	���³����~�|}s&�G�N����¸e~��N���

set → set
À���p�t��

fA
�³~U��¸¹���G�5���³���

¸¹����s
Aset

�³�N���
Aset

»Uwj����t���·Nt��OÀ�¸¹�N�����}|!�³�N��t�������t	�������³���
A
À�½�t9��§���t�t���pr��� 4

5
inc(f)

p�������~A���
A
�¿¸:���r���N����|3��¸

fA
�³~ �7
>�������X	1�7
[! À_��pG���V�³~YÀ

a ⊆ b
�³s*���³��tO~

fA(a) ⊆ fA(b)
À

¸¹���������
~�t	�?~
a, b
�³�
Aset

6

5
dec(f)

p��N�³��~A�³�
A
�¿¸
���r�*���r��|*��¸

fA
�³~ �#����������	1�7
8! ÀN��pr�����³~YÀ

a ⊆ b
�³s*���³��tO~

fA(b) ⊆ fA(a)
À

¸¹���������
~�t	�?~
a, b
�³�
Aset

6

5
add (f)

p�������~����
A
��¸:���r�B�����³|*�¿¸

fA
�³~ � �#���7% �73�� À���pr���V��~�À

fA(a∪ b) = fA(a)∪ fA(b)
À_¸¹���

���³�
~�t	��~
a, b
�³�
Aset

6
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5
mul(f)

pr������~����
A
��¸W���r�&�����³|��¿¸

fA
��~ "���45% � ->4 ������%?�73�� À���pr���Z��~�À

fA(a∩b) = fA(a)∩fA(b)
À

¸¹���������
~�t	�?~
a, b
�³�
Aset

6
5 f � g

p�������~V�³�
A
��¸����r�������³|!��¸

fA(a) ⊆ gA(a)
À�¸¹����t�·Nt���|!~�t��

a
�³�
Aset

»
��� ­�Ä�� " Ì G ��� t	�

f, g
�Gt���½��3¸¹��tYt�¸¹���r�	���³���j~�|_s&�G�N�³~���¸Z~��N���

set → set
ÀG���G���³t	�

u
�Gt&���

elem
µ

·������������³t�»ZoVp�tY�B��p�t °r±�²
ÄÆÅ µI¸¹����s$�r�³�
¬ [(add (f) ∧ f � g) → f(∅) ⊆ g({u})]

��~*������~������³~�ÇG������tN»c�¼�_�����¿����·Nt��³|�ÀC��p���~���~�����t/���Á��prt<¸à���5�*��pr���!tY·�t���|Æ���r���¿����·NtB¸¹�r�r�5�����N� ��~�����~��
�³�r����tO��~�����§G»

�

��� ­�Ä�� " Ì \ ��� t	�
A
�Wt/�´�����rt�s*����|S~�t��Y» oVp�t��
À�¸¹���3t�·�tY��|Â¸¹���r�	���³���

f : A → A
���r�St�·Nt���|

~����r~�t	�
B
��¸
A
À���p�t9¸¹���G�5���³���

F : P(A) → P(A)
��t�Çr��tO���}|

F (X) = {f(x) | x ∈ X ∩ B}
��~����r���¿����·Nt����r�/s$�r�¿�������³����������·Nt�»

�

��� ­�Ä�� " Ì O ��� t	�
Σ = {a1, . . . , an}

�Wt����B���³��pr���Gt��YÀ����G����t��
A = Σ∗

�Gt���p�t9~�t��A��¸º½A�N����~C��·�tY�
Σ
»��A���}·�tY��t9��pG���

Σ ⊆ Σ∗
»��¼�>����p�tY��½����?��~YÀr½�t$����t��_����¸¹|/��p�t3~�|}s&�G�N�³~����

Σ
½��¿��pj��p�t&½A�N���r~��³�

Σ∗
��¸:�³t��r§���p

1
»

oVp�tY�/��p�t9¸¹���G�5���³���
F : P(A) → P(A)

��t	Çr��tO�/�_|
F (X) = {a ∈ Σ | a

�}�Y�	���?~V�³�<~���s*t9½����?�
w ∈ X}

��~����r���¿����·Nt�À�½�p�tY��tO��~���p�t9¸¹���r�	���³���
G : P(A) → P(A)

��t�Çr��tY�/�}|
G(X) = [F (X)]

∗
= {w = x1 · · ·xn | xi ∈ Σ ∩X ,

¸¹�N�
i = 1 . . . n}

��~Vs$�r�¿�������³����������·Nt�»
�

����� �0��� � 
 ��'�)+	���� '6�/	2��
 ���

�¼�i���?��t������c~���s*���³��¸¹|c��p�tÁ����tO~�tY�_���������N�ºÀV½AtÂ½����³�x��¸Ø��tY�i�	�N�r~��³��tY�������������G�5���³���G~B��¸ 
>���1" ��4 �H�����
°r±�²
ÄÆÅ µI�³����t��?����~A��¸���p�t9¸¹�N��s 4

x ⊆ y , x = {u} , x = y ∪ z , x = y \ z ,
x = f(y) , inc(f) , dec(f) , add (f) ,
mul(f) , f � g ,

7b¡�9

½�prt���t
u
�³~$���

elem
µ¶·������³�����³t�À

x, y, z
����t

set
µI·������������³tY~YÀ
���r�

f, g
����t3¸¹��tYt�¸¹���r�	���³���S~�|_s&�G�N�³~���¸

~������
set → set

»
� t	�

ϕ
�Wtj� °�±V²ºÄÆÅ µI¸¹����s$������» *A|c~������������³|Æ���_���������r�����r§Á�rt�½ ·f���������r��tO~�ÀU���!��~*�G�_~�~����r��t/���

�����}·�tY���
ϕ
���_���´��� tY�_����~�������~�ÇG�����³t*¸¹����s$�r�³�

ψ1 ∨ . . . ∨ ψk
���c���³~à�����r�	���³·�t!�r����s*����¸¹����s<À�½�prt���t

tO���?p
ψi
�³~x�B���������r�r�5�����N�´��¸A������s����³�PJYtY� °r±�²
ÄÆÅ µ¶�³�¿��t��?����~���¸U��p�t&¸¹����s 7I¡�9	»9oVp}�r~YÀK½At&pr�f·�t$��p�t

¸¹�N���³��½��³��§&��tY~������Y»
± Ì ÄÆÄÆ­�� � +.-/� 	���% �
	�� �����745�7% 0 ->��� ��4P��" �'� °r±�²
ÄÆÅ �
	 �������73���4P��
&% % � % -/� 	���% �
	�� �����745�7% 0 ->��� ��4P��"
� �V����
 �1��
.��% ����
&	 �'�,
.���1" ��45�H�6��� °r±�²
ÄÆÅ @<4 �7% ������45	,� �,%7-&� �����1" 7b¡�9 �

�
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���������
	�����
���������������������������� ����!#"$��
&%��'�)(*��%,+.-/�����10�2�
&3���4536�7
8!:9;��
.��%<��
.�=� ��
>��%?����
/	 (

x1
x2

x3

β1 β12

β13

β123

V = {x1, x2, x3}
β1 = {1}
β12 = {1, 2}
β13 = {1, 3}
β123 = {1, 2, 3}
`1 = {β1, β12, β13, β123}

� F�W �:¬ Ì B ¯ �¼�N���������³���<�GtYp��³�r����p�t������������³���
`j
»

� +.-/� �����/���C%:�	��
 ��4	"$�����5%:-/#
� t	�

Γ
�WtB�j�����������G�5���³���S��¸�������s����³�PJYtY� °�±V²ºÄÆÅ µ¶������tY�����³~YÀ
���G�S��t�������t�½�����p

V = {x1, . . . , xn}���r�
F
��p�t������³��tO�5�����N�r~C��¸

set
µ¶·������³�����³tY~C���r�*¸¹��t�t�¸¹���r�5�����N��~�|}s$�W����~C�������������³��§��³�

Γ
À_��tY~��WtY�5����·Nt��³|�»

�¼�Q��p���~3~�tO�5���³���c½At/��tY~��	���³�Gt/�>��tY���r�	���³���Q����§N�����¿��p�s�¸¹���*�	�N�_·Nt������³��§
Γ
���_��� ���QtY�_����~�������~�ÇG�����³t

���������r�r�5�����N�
Γ∗
��¸ °r±�² µb¸¹�N��s&���³��t�»

ÃÁtB½��³�����r~�t���prt!¸¹���³�³��½�����§j�r���������³���º»��x�³·�tY�Æ�>~�t	�
a
À
P+(a)

��tY������tY~���p�t/~�t��
P(a) \ {∅}

»
w>����t���·�tY�YÀ_½�t9��t�������t9½��¿��p

`j
��p�t�~�t��

`j =
{

α ∈ P+({1, . . . , n}) | j ∈ α
}

,
¸¹�N�

1 ≤ j ≤ n .

	�Ì ÄÆ­�¬�� _ � oVp�t!�³�_���������³���Q�GtYp����G�Á��p�t!�r���������³���
P+ ��~���~�¸¹���³����½�~Y»��x�³·�tY�Æ�>�	�N���³tY�	���³��� V =

{x1, . . . , xn}
��¸

set
µI·������������³tY~YÀftY�N�?p

α ∈ P+({1, . . . , n})
�����&�Gt���p�����§Np_���N~:��t��r��tO~�tY�N�����r§����ZtY���

��t�§N���N�º»
Èr�������r~������r�	tNÀ����3È���§N����t H Àf��p�t	�ZtY���$��t�§N���N�
(x1∩x2)\x3

��~:��t��r��tO~�tY�N��tY�9�}|
β12 = {1, 2}

»
�¼�<§Nt���tY�����bÀ��*~�t��

α ∈ P+({1, . . . , n})
��t��r��tO~�tY�N�?~A��p�t
�ZtY���<��tY§��³��� ⋂

i∈α xi \
⋃

j /∈α xj
»

oVp�t3�³�N���������³���Á�GtYp����G�>��p�t&�r���������³���
`j
�³~�������t�����tY~�t��_����p�t3�����³���Â��¸��������Zt��r�Â��t�§N���N�r~���pr���

����t!�����_�������rtY� �³�S��p�t/~�t��
xj
»ÂÈ��N�$�³�r~������G�	t�À��³�QÈ���§N����t H À���prt�~�t	�

x1
��~$��t��r��tO~�tY�N��tY�Á�}|

`1 =
{β1, β12, β13, β123}

»
�

oVp�t3��tY���r�	���³���´����§N�����¿��p�s �³~x~�pr��½��>���ÁÈ���§N����t*¡�ÀK���r�Â�	�N�r~���~���~���¸U��pr��tYt&~���t��G~�»x�¼�>��p�t
� ¬�ª�«
ªY« Ì � À�½At9§Nt���tY������tx��t�½ ·������³������tO~�½�p��N~�t9���_���r�¿����·Nt�s3tO�����³��§*��~���~�¸¹���³�³��½�~�4

5 ¸¹���&tY���?p α ∈ P+({1, . . . , n})
À���p�tB��t�½ ·������³�����³t

vα
��~��³�_��tY�N��tY� ���>��t�����tY~�t��_����prt��Zt����

��tY§��³��� ⋂
i∈α xi \

⋃

j /∈α xj
6

5 ¸¹���xtY�N�?p ` ⊆ P+({1, . . . , n})
ÀG��prt&��tY½�·f���������r��t

wf,`
��~��³�_��t��G��tY�>���!��t�����tY~�t��_����p�t$·�������t

��¸���p�t9¸¹�r�r�5�����N�
f
��·�tY�A��p�t�~�t	� ⋃

α∈` vα
»

Õ:Õ Ú�arç5ð5å�b
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���������
	���
���������
�����	����

��������	! #"%$�&!'�(*)�'+$-,/.0&!'
Γ
&
12'+&
3/45"
60.07�8�9;:�<>=?�A@�BC6D.E,/8-3F"�60G�H

I ��	����?	! J"J$�&
'
(K)�'�$L,/.D&
'
Γ∗ &
1M:+<>=�BN1O&�3/4J)+6P"�8!H

QSR
TCU�TWVNR
X�Y
Z

V = {x1, . . . , xn}
.0G[,/\+8]$�&
6D608�$L,/.D&
'^&
12_
"�3/.D"
`+608�G[&a$�$�)+3b3/.0'+c�.D'

Γ d
Z

F
.0G>,/\�8]$�&
606D8-$-,/.0&!'^&
1�1�)�'+$-,/.0&!';G*e�4%`f&!60G[&a$�$�)+3b3/.0'+c#.0'

Γ d
Z P+(a) = P(a) \ {∅} g 1�&
3M8�"
$F\hGb8-, a d
Z

`j
G*,F"�'�9+G>1�&
3[,/\�8iGb8-,

{α ∈ P+({1, . . . , n}) | j ∈ α} g 1�&
3 1 ≤ j ≤ n
H

=�	����kj�l#mn8�'+8-3F"�,/8],/\+8n1O&
6D60&�o[.0'�c5'�8Lop_
"�3/.D"�`�608�G�q

vα ,
1O&
3M8�"�$L\

α ∈ P+({1, . . . , n}) ,

wf,` ,
1O&
3M8�"�$L\

f ∈ F
"
'�9

` ⊆ P+({1, . . . , n}) .

=�	�����:�l%r[9�95,/&
Γ
,/\+8n1O&
6D60&�o[.0'�c;:�<>=fBC1�&
3/4%)�6D"
8!q

vα =
\

i∈α

xi \
[

j /∈α

xj ,
1�&
3M8�"
$F\

α ∈ P+({1, . . . , n}) ,

"�'�9
[

α∈`

vα =
[

β∈m

vβ → wf,` = wf,m ,
1O&�3M8�"
$F\

f ∈ F
"
'�9

`,m ⊆ P+({1, . . . , n}) .

=�	����ts�l%uv8�w�6D"
$-8[,/\+8v:�<>=?�A@�BC6D.E,/8-3F"�60Gx.0'
Γ
$�&!'a,F"�.D'+.0'�ci1�3/8�8>1�)�'�$L,/.D&
'�G*e�4J`f&!60G�o[.E,/\y:�<>=fBC1�&
3/4%)�6D"
8

"�Gv1�&!6060&�o[G�q

xi = f(xj) =⇒ xi = wf,`j

inc(f) =⇒
^

`⊆m

(wf,` ⊆ wf,m)

dec(f) =⇒
^

`⊆m

(wf,m ⊆ wf,`)

add(f) =⇒
^

`,m

(wf,`∪m = wf,` ∪ wf,m)

mul(f) =⇒
^

`,m

(wf,`∩m = wf,` ∩ wf,m)

f � g =⇒
^

`

(wf,` ⊆ wg,`)

� F?W �:¬ Ì °e¯ oVp�t���tY���G�5���³���<���³§��N������prs/»

Ö¹Ü�ÕºÖØ×



���������
	�����
���������������������������� ����!#"$��
&%��'�)(*��%,+.-/�����10�2�
&3���4536�7
8!:9;��
.��%<��
.�=� ��
>��%?����
/	 H H

x1
x2

x3

α

β

V = {x1, x2, x3}
α = {1, 3}
β = {2}
` = {α, β} .

� F�W �
¬ Ì R ¯ �¼�_���r�¿�����N�/�Wt�pr���r����p�t�§�tY��t��?����tY��·f���������r��tO~
vα
���r�

wf,`
»

��� ­�Ä�� " Ì Y ��� t	�
V = {x1, x2, x3}

À
α = {1, 3}

ÀW���r�
β = {2}

ÀW�N~�§N������p��������³�³|���t�����tY~�t��_��tY�<�³�
È��³§�����t @ »ZoVp�tY�

vα
��t��r��tO~�tY�N�?~

(x1 ∩ x3) \ x2
Àr½�p�t���tY�N~

vβ
��t�����tY~�t��_��~

x2 \ (x1 ∪ x3)
»

É�t	¾}�YÀ���¸
` = {α, β}

��p�tY�
wf,`
��tY����tY~�t��_��~

f(vα ∪ vβ)
»

�

�¼�<��p�t ª Ì ® Ð E Ñ ª�« Ì � ��¸���p�t���tY���r�5�����N�<����§N�����¿��p�s<À�½At��N�������
Γ
���������������³����t °�±V² µI¸¹����s$�r�³��t

½�pr�N~�t��r�����W�N~�t���~�����s*����t�����p�t�·������������³tY~
vα
���r�

wf,`
���Y�	���?���³��§�������p�t��³�U�³�N���������³·�t�s*tY�������r§r»��¼�

�G���������	�������OÀ���prt$·������³�����³tY~
wf,`
����t�s*����t��³tY�<�}|/�������³�����r§���pr����¸¹����tY�N�?p

`,m ⊆ P+({1, . . . , n})
À

��¸ ⋃
α∈` vα =

⋃

β∈m vβ
��p�tY�

f
(
⋃

α∈` vα

)

= f
(

⋃

β∈m vβ

) »
È��³�r���³��|NÀ���� ��p�t « U Fà¬fÑ ª�« Ì � ��¸V��p�t!��tY���r�	���³���Æ����§N�����¿��p�s<À:½�t���tYs*��·�t*¸¹����s

Γ
���³� °r±�²
ÄÆÅ µ

�³����t��?����~V�³�_·N���³·}����§&¸¹��t�tx¸¹���r�	���³���>~�|_s&�G�N�³~Y»ZoVp���~��³~�������t9�}|!��t������������r§*����� °r±�²
ÄÆÅ µI�³����t��?����~���¸���p�t
¸¹�N��s

xi = f(xj)
À
inc(f)

À
dec(f)

À
add (f)

À
mul(f)

À_���r�
f � g

½�����p °r±�² µI�³����t��?����~Z�³�}·����³·}���r§��N����|
��p�t�·������³�����³tY~

xi
���r�B��p�t���tY½)·������������³tY~

wf,`
»

ÃÁt$�	�����³s'��pr�����N������tY���G�5���³���<���³§��N������prs'�³~��	������tY�5�O»Cwj�N��t�~��GtO�	��ÇG�������³|�À�½�t��	�����³s'��pr������¸
Γ∗��~���prt���tO~���������¸Z�����r��|}�³��§3���

Γ
��������tY���r�5�����N�/����§N�����¿��p�s ��p�tY� 4

5 ��p�t���tY���r�5�����N����~ 	�����
.� À��r��s*t��³|�À���¸ Γ ��~�~�������~�ÇW�����³t�À�~��*�³~ Γ∗
6

5 ��p�t���tY���r�5�����N����~ ����".->4P��%<� À��G��s*t��³|�À���¸
Γ∗
��~�~�������~�ÇW�����³t�À�~��*�³~

Γ
»

oVp�t9��t�¾}�V~�tY�	���³���B�r����·NtY~Z��pr�����N���V��tO���r�5�����N�B���³§��N������prs=�³~V~������r�����r���	�Ns3�r��t���t�À����r�!��p�t���t	µ
¸¹�N��t9����|}��tY�³��~��*��tO�	��~��³���/�������	tY������tx¸¹�N� °�±V²ºÄÆÅ »
��� ­�Ä�� " Ì B ` ��� t��C�r~U�G~�t��N���U��tY���r�	���³�������³§��N������prs �����r����·NtA��pr���C��p�t����������r�r�5�����N����¸ °r±�²
ÄÆÅ µ
�³����t��?����~

∆ =







inc(f) ,
x1 ⊆ x2 ,
f(x1) 6⊆ f(x2)







��~V������~�������~�ÇG�����³t�»

Õ:Õ Ú�arç5ð5å�b
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o:�´���´~��rÀ�½�t�Çr�?~��&�����}·�tY���
∆
�³�N���j��prt�¸¹���³����½��³��§jtO�N�r�³~������³~�ÇG���r��tB���������r�r�5�����N�S��¸ °r±�²
ÄÆÅ µ

�³����t��?����~ 4

Γ =







































inc(f) ,
x1 ⊆ x2 ,
x3 = f(x1) ,
x4 = f(x2) ,
x5 = {u} ,
x6 = x3 \ x4 ,
x5 ⊆ x6







































.

oVp�tY�ºÀr�³t	�
Γ∗
�Wt���prt���tO~��r�¿����¸��������³|_�³��§��N������tO���r�	���³���j���³§��N������p�s'���

Γ
»��A��tO������|NÀ�½�t����������

pG�f·�t���tY�¿��p�t�����prt3~��r����t����N����p�t$�r�����³t��r��t$���B½����¿��t$p�tY��t3���³�
¸¹�N��s&������t��³�
Γ∗
»�/���½�t�·�tY�YÀG½At3�����

t�¾����³�����<~��r�������r�	���³|!½�p}|
Γ∗
�³~��r����~�������~�ÇW�����³t�»

Èr���
j = 1, . . . , 6

À���tY������t�½��¿��p
`j
��p�t�~�t	�

`j =
{

α ∈ P+({1, . . . , 6}) | j ∈ α
}

,

���r��������t9��pr���
Γ∗
t��_�?���³�³~���p�t9¸¹����s$������t

xj =
⋃

α∈`j

vα ,
¸¹���

j = 1, . . . , 6 .

É�t	¾}�YÀ��³t	�

`12 =
{

α ∈ P+({1, . . . , 6}) | {1, 2} ⊆ α
}

,

���r��������t9��pr���
Γ∗
t��_�?���³�³~���p�t9¸¹����s$�����

x1 ∩ x2 =
⋃

α∈`12

vα .

u}�³�r��t
Γ∗
�	�N�_�����³�r~���p�t$¸¹����s$�����

x1 ⊆ x2
À
Γ∗
t��_�?���³�³~

x1 = x1 ∩ x2
»��¶��¸¹���³����½�~���pr���

Γ∗
����~��

tY�_�����³��~
⋃

α∈`1

vα =
⋃

α∈`12

vα ,

�N~V½AtY���º�N~

wf,`1 = wf,`12 .

u}�³�r��t
inc(f)

��~����
Γ
���r�

`12 ⊆ `2
À
Γ∗
�����_�������r~A��p�t��³����t��?���

wf,`12 ⊆ wf,`2

»UoVp}�r~YÀ
Γ∗
tY�N�?���³�³~

wf,`1 ⊆ wf,`2

»
u}�³�r��t

Γ∗
�	�N�_�����³�r~º��p�tA������tY�����³~

x3 = wf,`1

���r�
x4 = wf,`2

Àf���
¸¹���³�³��½�~e��pG���
Γ∗
tY�_�����³��~

x3 ⊆ x4
»

*�����~����G�	t
Γ∗
�����_�������r~���p�t*������tY�����³~

x5 = {u}, x6 = x3 \ x4
À:���r�

x5 ⊆ x6
Àº����¸¹���³����½�~���pG���

Γ∗���³~��3t��_��������~
x3 6⊆ x4

»UoVp}�r~�À
Γ∗
��~�������~������³~�ÇG���r��tN»

�
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.�=� ��
>��%?����
/	 H @

� A ���������C%:
/���
�

����� � � ��%(��%�	 � �

� t	�
Γ
�Gt��*~�������~�ÇG�����³t9�	���������r�5�����N����¸:���N��s������KJ�tO� °r±�²
ÄÆÅ µ¶�³�¿��t��?����~�À}���r���³t	�

Γ∗
�Wt9��p�t9��tY~������V��¸

�������³|}����§!���
Γ
��p�t&��tO���r�	���³���>���³§��N������prs,�³�´È���§N����t&¡�»xoVp�t INt�|/�³��tO�!��¸���p�t*~��N���r����tO~�~������_��¸Z�³~

��pr���OÀ�§��³·�tY�/�3s*����t��
A
��¸

Γ
Àr�3s3����tY�

B
��¸

Γ∗
�������Wt��	�N�r~������G�5��tO�B�³�/��p�t�s*�_~����r�������?���e½V�f|���¸

½�t9��tYs*t�s$�Wt��V��p�t��³�N���������³·�t9s*tY���r����§*��¸:��p�t�·������³������tO~
vα
���r�

wf,`
»

± Ì ÄÆÄÆ­ B>B � ² Ð � E Ñ E Ì ªOª � � 
 ��%
Γ

���:� ����
 �1��
.��% ����
 �'�$
>���1"$��45�H�6��� °�±V²ºÄQÅ @<45�7%<������4 	:	 ��
>��4K��%
Γ∗

��� % -/� ����	���4 %^� � �)- ->450��7
[!�% �
Γ
%7-&� �������&��% ����
���4 !8���1�7% -[" �7
 � � !�����������+.-&��
 � �

Γ
�
	 	���%?�
	�� ����4P� 	

	�� �
	
Γ∗

�
�

���	�
���	
 � t��
A
�Wt*��s*����t��Z��¸

Γ
Àº���r�Â��t�������t3½��¿��p

V = {x1, . . . , xn}
���r�

F
��p�t��	�N���³tY�	���³���r~

��¸
set
µI·������������³tY~9���r�>¸¹��t�t3¸¹���G�5���³���S~�|}s$�W����~9�}�Y�	����������§/�³�

Γ
À
��tY~��GtO�5����·Nt��³|�»*ÃÂt!���³����s���pr������p�t

�³�_��tY������t	�?�������N�
B
��t�Çr��tY�/�}|!�³t	�����³��§

Belem = Aelem ,

Bset = Aset = P(Aelem) ,

���r�

uB = uA ,
¸¹����tY�N�?p

elem
µ¶·f���������r��t

u ,

xBi = xAi ,
¸¹����tY�N�?p

i ∈ {1, . . . , n} ,

vBα =
⋂

i∈α

xAi \
⋃

j /∈α

xAj ,
¸¹����tY�N�?p

α ∈ P+({1, . . . , n}) ,

wB
f,` = fA

(

⋃

α∈`

vBα

)

,
¸¹����tY�N�?p

f ∈ F
���G�

` ⊆ P+({1, . . . , n})

��~��3s*�}��t��º��¸
Γ∗
»

o:�!~�tYtx��p���~�Àr������t���pr����¸¹�N��s&������tx���
Γ∗
�����/�Wt��r�����������³����tO�B�³�_���3��prt9¸¹���³����½��³��§�������t�§N������tO~�4

7à� 9B�³����t��?����~V��¸���prt9¸¹����s
x ⊆ y
À
x = {u}

À
x = y ∪ z

À����r�
x = y \ z

������§N���r�����³|�����tY~�t��_�����
Γ
6

7¹��� 9B�³����t��?����~V��¸���prt9¸¹����s
vα =

⋃

i∈α xi \
⋂

j /∈α xj
6

7à����� 9!¸¹�N��s&������t9��¸:��p�t9¸¹�N��s ⋃
α∈` vα =

⋃

β∈m vβ → wf,` = wf,m
6

7¹� ��9B�³����t��?����~V��¸���prt9¸¹����s
xi = wf,`j

Àr½�p��³�?p/��t���������tx�³����t��?����~���¸���p�t9¸¹�N��s
xi = f(xj)

���
Γ
6

7 ��9����������r�r�5�����N�r~V��tY�������	�³��§3������tY�����³~V��¸
��p�t9¸¹����s
inc(f)

À
dec(f)

À
add(f)

À
mul(f)

ÀG���r�
f � g�³�

Γ
»

Õ:Õ Ú�arç5ð5å�b



H ¦ � ��4K��!8����������� �������
	 ����" ��
 ����� � ��
 % ��
>��	
�[� ����� +��^(.��-�� ���1%��

� �¿��t��?����~º��¸���p�tU¸¹�N��s 7à� 9º����tZ������tA���
B
�WtY�����r~�tZ��p�tY|��	���_�?���³�������³|9·f���������r��tO~º���³��tO����|������	�r�������r§

�³�
Γ
À����r�/�_|��	���G~������r�	���³���

B
��§���t�tO~�½��¿��p

A
���<���³�
~��r�?p/·f���������r��tO~�»

�A�N�r�	tY�����³��§S�³�¿��t��?����~���¸x��prtj¸¹����s 7à��� 95À�½�tjpr�f·�t
vBα =

⋂

i∈α x
A
i \

⋃

j /∈α x
A
j =

⋂

i∈α x
B
i \

⋃

j /∈α x
B
j

»
�A�N�r�	tY�����³��§>�³����t��?����~&��¸���prt!¸¹����s<7¹����� 95À��³t	� ⋃

α∈` v
B
α =

⋃

β∈m vBβ
»ÁoVprt��

fA
(
⋃

α∈` v
B
α

)

=

fA

(

⋃

β∈m vBβ

) À�¸¹�N��t�·Nt���|
f ∈ F

»�oVp}�r~�À
wB

f,` = fA
(
⋃

α∈` v
B
α

)

= fA

(

⋃

β∈m vBβ

)

= wB
f,m

À�¸¹���
tY·�tY��|

f ∈ F
»

�A�N�r�	tY�����³��§!�³����t��?����~���¸Z��p�t$¸¹����s 7à� �"95ÀW�³t	�
xi = f(xj)

�Wt$�³�
Γ
»�oVp�t��j½�t�pr�f·Nt

xBi = xAi =

fA
(

xAj
)

= fA

(

⋃

α∈`j
vBα

)

= wB
f,`j

À�½�p�tY��t
`j = {α ∈ P+({1, . . . , n}) | j ∈ α}

»
�A�N�r�	tY�����³��§ �³�¿��t��?����~<��¸$��p�t ¸¹����s 7 �"9	À��	�N�r~�����tY�>�c�³����t��?������¸&��p�t ¸¹����s

inc(f)
�³�

Γ
���r�

~������W�N~�t ��pG���
` ⊆ m

À�½��¿��p
`,m ⊆ P+({1, . . . , n})

»�ÃÁtÆ½����_�/��� ~�pr��½z��pr���j��p�tÆ�³�¿��t��?���
wf,` ⊆ wf,m

�}�Y�	����������§j�³�
Γ∗
��~�������t!�³�

B
»jo
�´���´~��GÀ����r~�t���·�t3��pG���YÀZ~����G�	t

` ⊆ m
À�½�t!pr�f·�t

⋃

α∈` v
B
α ⊆

⋃

β∈m vBβ
»�u}�³�r�	t

fA
�³~����r����tO��~����r§rÀ�½�t�����~���pG�f·�t

fA
(
⋃

α∈` v
B
α

)

⊆ fA

(

⋃

β∈m vBβ

) À
���r�´��p�tY��t�¸¹����t

wB
f,` ⊆ wB

f,m

»BoVp�t!�Y��~�tY~x��t�§N����������§<�	�N�������r�	���³���r~����_���������r��tY�Â���
Γ∗
���j��t���������t

�³����t��?����~V��¸:��p�t9¸¹�N��s
dec(f)

À
add (f)

À
mul(f)

���r�
add(f)

�����/�Wt9����tY����tY�<~���s*�³�³�����³|�»
�

��� � � � � 1(�*	2��	�% 	 � �

� t	�
Γ
�Wt!�/���������r�r�5�����N�Â��¸A���N��s����³�KJ�tY� °r±�²
ÄÆÅ µ¶�³�¿��t��?����~�»3��~��Wt	¸¹�N��tNÀº��t����r~���tY������t3½�����p

V =
{x1, . . . , xn}

���G�
F
��prtB�	�N���³tY�	���³���r~���¸

set
µ¶·������³������tO~����r�Â¸¹��t�t�¸¹�r�r�5�����N�Æ~�|}s$�W����~��������������³��§<���

Γ
À���tY~��GtO�5���³·�tY��|N» ����~��rÀ��³t	�

Γ∗
�GtÂ��p�tÂ��tO~��r�¿�/��¸$���r����|}�³��§S���

Γ
��p�t´��tY���r�5�����N�i���³§��N������p�s �³�

È��³§�����tx¡�»Zo
�3~�p���½ ��p�t9�	��s*���³t	��t���tO~�~���¸
��������tY���r�	���³���B����§N�����¿��p�s<ÀN½�t��rt�tY�!���3������·�t���pr���V�¿¸
Γ∗��~�~�������~�ÇG�����³t�À�~��*�³~

Γ
»

o:�$���$~��rÀN��t��
B
�Wt���s3����tY�r��¸

Γ∗
À_���r�*��t��C�r~�~��?�����Z���$��t	Çr��tx�����³�_��t�������t	�?�����³���

A
�}|3��t������³��§

Aelem = Belem ,

Aset = Bset = P(Belem) ,
���r�

uA = uB ,
¸¹����tO���?p

elem
µ¶·������³������t

u ,

xAi = xBi ,
¸¹����tO���?p

i = 1, . . . , n .
�¼�j�N����tY�V���B��t	Çr��t

A
��·�t��V��p�t�¸¹��t�t9¸¹���r�	���³���´~�|}s$�W����~V���

F
ÀG��t����r~���tO�����³�e��pr������p�t��³�_���������³·�t

s*tO�����³��§´��¸��Â·f���������r��t���¸���p�tB¸¹�N��s
wf,`
��~$���´��t�����tY~�t��_�&��p�t<t	¾�����tY~�~����N�

f(
⋃

α∈` vα)
»ÆoVp_�G~�À

�N���&��t	Çr�������³���c��¸
fA
~�pr�������Æ~�������~�¸¹|´��p�t��r���N�GtY����|Â��pr���

fA(
⋃

α∈` v
B
α ) = wB

f,`

À�¸¹�N�&tY·�tY��|
` ⊆

P+({1, . . . , n})
» *A����p���½)���*½At9��t	ÇG��t

fA(a)
�³�B��p�t9s*����t�§Nt���tY�����W�Y��~�t��³��½�p����?p

a
�³~V�����V��p�t

�r�����N�S��¸�~�t���~$��¸���p�tB¸¹����s
vBα �
oVprt!�³��tY�<��~����Â��t	Çr�rt!�����W�������r��t��³|Â� ���
	�������%?�H�6��%?����
 ����
.��% ����


λ : Bset → P(P+({1, . . . , n}))
À����G�!��p�t��j�³t	�

fA(a) = wB
f,λ(a) ,

¸¹�N��tY�N�?p
f ∈ F

���r��tY�N�?p/~�t	�
a ∈ Aset = Bset .o:�!���?p��³t�·Ntx����s*���³t	��t���tO~�~YÀ�½At9��tYtY�<� ! �6�6� ���³~��	��t	���PJO�����³���B¸¹���r�	���³���º»
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�/Ì � E F¹«6F Ð E B ° ��� t	�
Γ
�Gt>� �	�N�������r�	���³��� ��¸x������s����³�PJYtY� °r±�²
ÄÆÅ µI�³����t��?����~3���r�c��t��

Γ∗
�Wt<��p�t

��tY~���������¸��������³|}���r§����
Γ
��p�t���tY���G�5���³��� ���³§��N������prs ���SÈ���§N����t�¡�»��=���³~��	��t	���PJO�������N�´¸¹���G�5���³���

λ :
Bset → P(P+({1, . . . , n}))

��~��
�
���*½�����p&��tO~��WtY�	�º������s*����t��
B
��¸

Γ∗
�¿¸���p�tU¸¹�N���³��½��³��§��	�N�r�������³���r~

pr������4
7à�"9

λ
�³~����r����tO��~����r§ 6

7 *�9
λ
�³~������������³·�t 6

7¶� 9
λ
�³~�s$�������³���³�³�Y�����³·�t 6

7àÒ�9��¿¸
a =

⋃

α∈` v
B
α

��p�t��
a =

⋃

α∈λ(a) v
B
α

À�¸¹�N��tY���?p
` ⊆ P+({1, . . . , n})

»
�

± Ì ÄÆÄÆ­ B�R ��
 ��%
Γ

��� � ����
��1��
>��%?����
 �'�$
.���1" ��45�H�6��� °r±�²
ÄÆÅ @<4 �7% ������45	)	 4K��%
Γ∗

��� %7-&� ����	1��45% � �
�:-�-.450��7
8! % �

Γ
% -/� �������&��% ����
 ��4 !8���1�7% -[" �7
 ��� !#����� ��	���
.� 4P��%

B
��� � "$�6�#��4 �'�

Γ∗
� �=	�	1��"$�

% -/��% %7-&����� ��� �
	1%?	������
	�������% �H�6��% ����
:����
.��% ����

λ : Bset → P(P+({1, . . . , n}))

� -[����- �
	)!8�6���D� �7% -
���1	F-&����% %<�

B
�

+.-/��

Γ
�
	)	���%?�
	�� ����4P� �

�

���	�
���	
 � t��
V = {x1, . . . , xn}

7¹��tY~��WtY�5����·Nt��³|�À
F
9��Gt���p�t$�����³��tO�5�����N�j��¸Z·������³������tO~�7¹��tY~��WtY�5����·Nt��³|�À

¸¹��t�t$¸¹���r�	���³���´~�|}s$�W����~)9��}�Y�	����������§��³�
Γ
»�ÃÁt$����½�������·�t���pr������prt&�³�_��t�������t	�?�����³���

A
��t	Çr��tO�j�}|

�³t	�����³��§

Aelem = Belem ,

Aset = Bset = P(Belem) ,

���r�

uA = uB ,
¸¹����tO���?p

elem
µ¶·������³������t

u ,

xAi = xBi ,
¸¹����tO���?p

i = 1, . . . , n ,

fA(a) = wB
f,λ(a) ,

¸¹����tO���?p
f ∈ F

���r�/tY���?p/~�t��
a ∈ Aset ,

��~��3s*�}��t��º��¸
Γ
�}|B~�p���½����r§&��pr���

A
~�������~�ÇrtY~V���³�º�³�¿��t��?����~��}�Y�	����������§3�³�

Γ
»

± F¹« Ì ¬�­�"bª Ð Å�« U Ì Å Ð ¬�Ä
x ⊆ y � x = {u} � x = y ∪ z � x = y \ z

� oVprtY~�t�������tY�����³~�����t9�����rt����
A~��³�r�	t

A
��§N��tYtY~�½��¿��p

B
�N�/�����e·������������³tY~��������������³��§3���

Γ
»

± F¹« Ì ¬�­�"bª Ð Å<« U Ì Å Ð ¬fÄ
xi = f(xj)

� � t	�
a =

⋃

α∈`j
vBα
À�½�p�tY��t

`j = {α ∈ P+({1, . . . ,

n}) | j ∈ α}
» oVprt��ºÀ��}|Æ�������Wt�����|'7àÒ�9*��¸9Ò�t�Çr�������³��� H ¡�ÀC½�t/pG�f·�t

a =
⋃

α∈λ(a) v
B
α

ÀV���G�
��p�t���t	¸¹�N��t

wB
f,`j

= wB
f,λ(a)

»xu}���G�	t���p�t$�³�¿��t��?���
xi = wf,`j

��~��³�
Γ∗
ÀW½At�pG�f·�t

xAi = xBi = wB
f,`j

=

wB
f,λ(a) = fA(a) = fA

(

⋃

α∈`j
vBα

)

= fA
(

xBj
)

= fA
(

xAj
) »
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inc(f) � dec(f) � add (f) � mul(f)

­ E Ñ
f � g

� � t	����p�t��³�¿��t��?���
inc(f)�Wt��³�

Γ
À}���r�3�³t	�

a ⊆ b
»Zu}�³�r�	t

λ
��~Z���G�	��tY��~��³��§rÀ

λ(a) ⊆ λ(b)
À}~�����pr���U��p�t�������tY�����

wf,λ(a) ⊆ wf,λ(b)s&�r~��V�Wt9���
Γ∗
»ZÃÁtxpG�f·�t

fA(a) = wB
f,λ(a) ⊆ wB

f,λ(b) = fA(b)
À��³s*����|}�³��§3��pr���

fA
�³~��³�r�	��tY�N~��³��§r»

u���s*�³�³�����³|�À��N��t������/�r����·Nt���pr�������³~������³�º������tY�����³~V��¸:��p�t9¸¹����s
dec(f)

À
add (f)

À
mul(f)

���r�
f � g�³�

Γ
����t9~������³~�ÇrtO�B�}|

A
»

�

	�Ì ÄÆ­�¬�� B[G � *A|j�/������t�¸¹�������r���³|�~���~���¸U��prt3���G��·Nt������_��¸�ÀK�¿�x�������r~������x��pG���x��p�t3s*�����������r�³���¿��|
��¸���p�t<����~�����t����KJY�����³���S¸¹���G�5���³���

λ
�³~&��t�tO��tY�Q�����³|Á��� ~�pr��½ ��p�t<~�������~�ÇG�����³������| ��¸��³�¿��t��?����~$��¸���p�t

¸¹�N��s
inc(f)

���r�
dec(f)

» � �PINt�½���~�tNÀ_��p�t��N���������³·_����|B��¸
λ
�³~V��tYtY��tO�/�����³|�¸¹�����³����t��?����~V��¸:��p�t9¸¹�N��s

add (f)
À�½�p�t���tY�N~$��p�t<s$�������³���³�³�Y������·}����|Æ��¸

λ
�³~*�rt�tY��tY� �����³|S¸¹�N�3�³����t��?����~*��¸���p�t<¸¹�N��s

mul(f)
»

È��³�r���³�³|�ÀU�������Wt�����|#7àÒ�9$��¸
λ

7à�	¸�»�Ò�t	ÇG���¿�����N� H ¡�9��³~&�����³|S��tYtY��tO� ���Á������·�t���p�t/~������³~�ÇG�������³����|Á��¸
�³����t��?����~V��¸:��p�t9¸¹�N��s

xi = f(xj)
»

�

� t�s*s�� H @ ~�p���½�~A��pG���V��p�t9t�¾}��~���t��G�	t9��¸�§��}���B����~�����t����KJY�����³���!¸¹�r�r�5�����N�r~V�³~VtY�����r§�p!���*t��r~�����t
��p�t>�	�Ns*����t���tY��tY~�~*��¸x��������tY���G�5���³��� ���³§��N������prs/» *����!p���½ ��� ½Atj��t�Çr��tj§N�_��� ����~�����t����KJY�������N�
¸¹�r�r�5�����N�r~

���~��&Çr��~���������t�s*���OÀr§N��·Nt������j�������¿��������|*s*����t��
B
��¸

Γ∗
Àr��t����r~���t	ÇG��t

λ+
B

(a) = {α ∈ P+({1, . . . , n}) | vBα ∩ a 6= ∅} ,
¸¹�N��tY�N�?p/~�t	�

a ∈ Bset .

�¶����~VtY�N~�|*���3~�t�tx��pG���
λ+
B

~�������~�ÇrtY~��������Wt������³tY~�7à�"95À 7?* 9	Àr���G� 7bÒ"9���¸:Ò�t�Çr�������³��� H ¡�» /���½�t�·�tY�YÀ_�³�
§Nt���tY�����

λ+
B

�³~A������s$�������³���³�³�Y������·Nt�»���~��$�	�N���_��tY��µ¶t	¾���s*���³t�ÀN��~�~���s*t���pr���A��p�tY��t�t	¾��³~��C��½��$����~à�����³�N�
~�t	�?~

a, b
���
Bset

���r�´~��Ns3t
α ⊆ P+({1, . . . , n})

~��G�?pj��pr���
a ∩ vBα 6= ∅

���r�
b ∩ vBα 6= ∅

»9oVp�t��
α ∈ λ+

B
(a) ∩ λ+

B
(b)
�����

λ+
B

(a ∩ b) = ∅
»

*�|&��t�s�����I H ¦rÀ��³�*��p�t��r���}��¸K��¸ � tYs*s*� H @ ��p�t�p}|}�W����prtY~��³~���pr���
λ+
B

��~Zs$�������³���³�³�Y������·Nt��³~Z�G~�tO�
�N���³|�����~�p���½���pG���x��p�t&������tY�����³~���¸Z��p�t$¸¹�N��s

mul(f)
�³�

Γ
����t$~�������~�ÇrtY�j�}|

A
»�oVp�tY��t�¸¹����t�ÀW�¿¸C½�t

��t	Çr��t °r±�²
ÄÆÅ + ���$�Wt���p�tx�³����§��r��§�t��N���������rtY��¸¹����s °r±�²
ÄÆÅ �_|*��t�s*��·}���r§���prtx~�|}s$�W���
mul
À}½At

§Nt	�V��prt9¸¹���³����½��³��§*�r�����������K��tY~������Y»
± Ì ÄÆÄÆ­ B/\���
 ��%

Γ
���,� ����
 �1��
>��% ����
 �'� 
>���1"$��45�H�6��� °r±�²
ÄÆÅ + @<45�7%<������4 	,��
.� 4K��%

Γ∗
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[! % �
Γ
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;� �

Γ∗
�
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Γ
�

��A�Ns$���³���³��§ � t�s*s�� H#H ���G� � t�s*s�� H  &½At9�N������������p�t���tY�	�����������³����|!��¸ °r±�²
ÄÆÅ + »
S U Ì}Ð ¬ Ì Ä B O � +.-/�V	���% �
	�� �����745�7% 0 -.������4P��" ����� °�±V²ºÄÆÅ + �
	 �#������� ����4P�E�

���~��*~�tO�	���G��������tYs*�������*Çr�G�/�3§N�_���/����~�����t����KJY�������N�!¸¹���G�5���³���
À���t����r~���t�Çr��t

λ×
B

(a) = {α ∈ P+({1, . . . , n} | ∅ 6= vBα ⊆ a} ,
¸¹����tO���?p<~�t��

a ∈ Bset .

�¶����~VtY�N~�|3����~�t�t���pr���
λ×
B

~�������~�ÇrtY~��������Wt������³tY~"7à�"95À 7¶� 95Àr���r�;7bÒ"9���¸�Ò�t	Çr�������³��� H ¡�» /���½�t�·�tY�YÀ_�³�
§Nt���tY�����

λ×
B

��~V���������r���¿����·Nt�»U��~��3�������_��t���µIt�¾���s*����tNÀ���~�~���s*t���pr������p�tY��t9t�¾}��~�����½A�*~�t���~
a, b
���r�

~���s*t
α ⊆ P+({1, . . . , n})

~��r�?p>��pr���
vBα ⊆ a ∪ b

À
vBα 6⊆ a

Àº���r�
vBα 6⊆ b

»9oVprt��
α ∈ λ×

B
(a ∪ b)�r���

α /∈ λ×
B

(a) ∪ λ×
B

(b)
»

*�|���t�s�����I H ¦GÀ��³�!��prt������}��¸e��¸ � t�s*s�� H @ ��p�txp_|}�W����p�tY~��³~U��pr���
λ×
B

��~C�N���������³·�t���~A�r~�tO�*�����³|
���!~�pr��½ ��pG������prt�������tY�����³~V��¸:��p�t�¸¹����s

add (f)
�³�

Γ
����t�~�������~�ÇrtO�/�_|

A
»CoVp�tY��t�¸¹����t�À���¸�½�t���t	ÇG��t
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°r±�²
ÄÆÅ
×
���j�Gt!��p�t!�����r§��r��§�t3�����?���³��tY�Â¸¹����s °r±�²
ÄÆÅ �}|´��t�s*��·}�³��§/��p�tB~�|}s$�W���

add
À�½At�§Nt	�

��p�t9¸¹���³�³��½�����§3�r�������³���e��tO~������Y»
± Ì ÄÆÄÆ­ B � ��
 ��%

Γ
���,�$����
��1��
>��%?����
 �'� 
>���1" ��4 �H����� °r±�²
ÄÆÅ

×
@<4 �7% ������45	=��
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[! % �
Γ
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��A�Ns$���³���³��§ � t�s*s�� H#H ���G� � t�s*s�� H £$½At9�N������������p�t���tY�	�����������³����|!��¸ °r±�²
ÄÆÅ
×
»
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�u}� ¸à���YÀ����B�����WtY����~��N~*��t�����p�tY�
λ+
B

�r���
λ×
B

����t/§N�}�}� ����~�����t����KJY�����³���c¸¹���r�5�����N�r~Y» /���½�t�·Nt��OÀ
�N~�~���s*tx��pr����½At�pr�f·Ntx�3s*����t��

B
��¸

Γ∗
~��r�?pB��pr���E4

|vBα | ≤ 1 ,
¸¹�N��tY���?p

α ∈ P+({1, . . . , n}) .
7 @ 9

oVprt��S���&��~�tY�N~�|´���´~�t�t!��pr���&�³� ��p���~&�Y��~�t
λ+
B

���r�
λ×
B

�	�N���r���³��t�ÀZ���r�Á��p�t���t	¸¹�N��t*��p�t�| ����t!�W����p
�N���������³·�t3���r�´s$�������³���³�³�Y�����³·�tN»�oVp_�G~�ÀK�W����p

λ+
B

���r�
λ×
B

����t$§��}���>����~��	��t	���KJY�����³���j¸¹�r�r�5�����N�r~�½�����p
��tY~��WtY�5�V���!���}|�s*�}��t��

B
��¸

Γ∗
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Γ∗
���,% -/� ���1	1��45%

� � �:-�-.450��7
8!N% �
Γ
%7-&� �������&��%?����
 ��4 !8���1�7% -[" �7
N� � !#����� � � �=	�	1��"$����4 	�� %7-&��%

Γ∗
�
	:	���%?�
	�� ����4P� �

+.-&��
 %7-&������� �#�
	1%?	,� "$�6�#��4
B
�'�

Γ∗
	1�&��- % -/��%

|vBα | ≤ 1
	&����� ��� ��-

α ∈ P+({1, . . . , n})
�

�

���	�
���	
 � t��
U
�Gt���p�t$�����³��tO�5���³���<��¸

elem
µI·������������³tY~V���Y�	�������³��§��³�

Γ
ÀG���r�<�³t	�

V = {x1, . . . , xn}�Wt9��prt��	���³�³tY�5�����N����¸
set
µI·������������³tY~��������������³��§3���

Γ
»

É�����t$��pr���
U
��~����³~��*��p�t3�	�N���³tY�	���³���<��¸

elem
µI·������������³tY~����Y�	�������³��§��³�

Γ∗
»�Èr������p�tY��s*����t�À

Γ∗
�³~

�*�����������G�5���³���<��¸ °r±�² µ¶������tY�����³~A��pG�������}tY~��������	�N�_�����³�<���}|!�³�¿��t��?���e��¸���prt9¸¹����s
s 6=set t

���
s 6⊆ t
»

oVprt���t	¸¹����t�À}�}| � t�s*s�� @ À}��prt���txt�¾��³~���~��*s*����t��
B
��¸

Γ
~��r�?p���pr���

Belem = UB
»

� t	�
α ∈ P+({1, . . . , n})

ÀG���G�j��~�~���s*t9��pr���
vBα 6= ∅

»�oVprt��j��p�t���t�t	¾���~��?~����jtY��tYs*t��_�
a ∈ vBα~��r�?p���pr��� 4

5 a = uB
À�¸¹�N��~��Ns*t

elem
µI·������������³t

u
���
U
6

5 �3������tY�����º��¸:��p�t9¸¹�N��s xi = {u}
��~����

Γ∗
»

*�������p�t��
vBα ⊆ xBi

À�½�p����?p<��s*���³�³tY~
|vBα | = 1
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λ+
B

�N�
λ×
B
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�3s*����t��

B
��¸

Γ∗
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x = f(y) , inc(f) , dec(f) ,

add (f) , mul(f) , f � g .
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ϕ
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B
��¸
ϕ
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Belem

��~�����Çr������t���~�¸¹�N���³��½�~Y»
È���¾/���/�³��Çr������t$~�t	�

X
��¸�t��³t�s*t��_�?~����³~à�����³�_��¸¹���Ns

Aelem

Àr���r�B�³t	�

Belem = Aelem ∪X ,

Bset = P(Belem) ,

���r�

xB = xA ,
¸¹�N��tY�N�?p�·������������³t

x ,

fB(a) = fA(a \X) ,
¸¹�N��tY���?p�¸¹��t�tx¸¹���r�	���³���j~�|}s&�G�N�

f
���G�

a ∈ Bset .

É�����tÂ��pG���YÀ��}| �����r~������r�	���³���ºÀ
tB = tA

À�¸¹���/tY���?p ��t���s
t
» Èr������p�tY��s*����t�À�½AtÁ�	�����³s ��pr���

ψA = ψB
À�¸¹���Bt�·�tY��| ������s*�³�/¸¹�N��s&�����

ψ
»�oVp��³~B�³~�������·}������¸¹�N�B������s*���/¸¹����s$������tj��¸���p�tj¸¹����s

u =elem v
À
s =set t

À
u ∈ t
À
s ⊆ t
»
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�A�N�r�	tY�����³��§$���!������s*�³��¸¹����s$��������¸e��p�t�¸¹�N��s
inc(f)

À_½�t���tYtY�*���$~�p���½ ��pr���
fA
�³~C���r����tO��~����r§

��¸A���r�j���r��|j��¸
fB
�³~x�³�r�	��tY�N~��³��§G»���~�~���s*t$Çr�?~�����pG���

fA
��~x���r����tO��~����r§rÀK���r�j�³t	�

a, b ∈ Bset

~��G�?p
��pr���

a ⊆ b
»�oVprt��

a \X ⊆ b \X
»�oVp}�r~�À

fB(a) = fA(a \X) ⊆ fA(b \X) = fB(b)
» ���³��t�·�tY��~���À

�N~�~���s*t���pr���
fB
��~9���G�	��tY��~��³��§rÀK���r�´��t��

a, b ∈ Aset

~��r�?p>��pr���
a ⊆ b
»$oVprt��

fA(a) = fB(a) ⊆
fB(b) = fA(b)

»
u}�³s*���������³|�ÀC�N��t<����� ~�p���½=��pG���

A
���r�

B
����~��Á��§���t�tB�N� ������������s*����¸¹����s$������t���¸���p�t/¸¹����s

dec(f)
À
add (f)

À
mul(f)

ÀG���r�
f � g
»
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ψA = ψB
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¸¹�N�$tO���?pÁ¸¹����s$�����
ψ
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¸¹�N���³��½�~A��pr���
ϕA = ϕB
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ϕ
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� �7�7� �

L
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�
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��tY�	�����������³����|!��¸ °r±�²
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ÄÆÅ ½�����pj����p�tY��������§N�r��§NtY~Vs*����t��³�³��§���prt&~������
��¸:tY��tYs3tY�_��~Y»
Ê�����½�����I>�����ÂpG�f·�t*�������³�����������N�r~9�³�Á���Â�³�_��t��?���	���³·�t*�����}��¸CtY�_·}�³���N��s*t��_�����Á½�p����?pÁ��p�t��r~�t��
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{f(u) | u ∈ x \ z} ⊆ {f(u) | u ∈ (x ∪ y) \ z} ,
7¹¦�9

½�prt���t
u
�³~B���

elem
µ¶·������³�����³t�À

x, y, z
����t

set
µ¶·������³������tO~�ÀV���G�

f
��~!�Á¸¹���r�	���³��� ~�|_s&�G�N����¸�~������

elem → elem
»xÃ p�t��Â������·_�³��§���p�t$·�������������|j��¸37à¦ 9�ÀG��p�t3�r~�tY���Y���>�³�r~������r�5�x��p�t*~�|}~���tYs�½��¿��p>��prt

�³�r~���§Np_����pr������p�t9¸¹���r�	���³���

F (w) = {f(u) | u ∈ w \ z}
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inc(F ) → F (x) ⊆ F (x ∪ y)
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